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mFn a{ 6I Xrc 3,90.000

crR ffit 3,51,000

'sr 
qrdr qqEC delr 31.12.2015 sl EE} q cqifr cr 614 +1 {nr

<flkq r 16

unir-III tl6r{-III

Two by-prbduct B and C are produced in the course bf
manufactue ofProductA. Thejoint cost ofthe manufacture

are :

(Rs.)

Malerial 8,500

Iabour 9,000

Ovedrads 7,500

25,000

The subs€quent costs are as under

A

(Rs.)

Material 2,500

Iabour 1,900

Ovefteads 1,500

Roll No. ............

kinted Pag€s :11

BCQ /A-17
COST ACCOUNTING

Paper-II
Time allowed: 3 hoursl [Maximum ma*s : 8a

Nole: Atterhpt rtee quesliotls in all, selecting dt leatt one

questionbut ttot more thah firo questions.fro eachunit.

All questions cdfty equdl nttlrke.

qrt gr{, Sd ftq spq dfuc r a\t qpn i ei+ aqrq d t

Unit-I Esrt-t

Define CostAccounting. Explain its scope and fundamental

principles. 16

rrd tqifr d dirnk dtoql ${r+ hss-A-{ der {€Td tu-cr<]

d qiq dltuq r 16

B Cr*-f,

Explain the objectives and essentials ofeffective material

conftol. .

m* {lsff R{fl * saflfi dqr i{rar{{ d fr antcl

dftq r

The record ofissues and receipts for a month is given

below. You are required to prepare the store ledger

acqlrmt and show the uainsactions charging the issues on

rhe principle o1'FIFO rnethod. fhe stock verificatior

P"f.o.

I

C

(Rs.)

1,400

2,000

1,050

2. (a)

5,900 3,700 4,450

SaleValue 30,000 20,000 15,000

ProlitonSale 4\o/o 30% 25Yo

Appofiioned the joint cost of the products and prepare

necessaryaccounts. 16

(b)

2tl3l21t31 [See 9th page

t-zTrTl

B

(lls.)

1,200

1,600.

900



(2)
reports reveal a loss of 5 tons on 5thAugust and another

shortage of4 tons on 2SthAugust.

August, I Opening balance-5oo tons @ Rs. 20 per ton

August,2 Issue 100 tons

August, 3 Issue 50 tons

August.4 lssue 200 tons 
.

August, T Puchase 200 tons @ Rs. 19.50perton

August, t6 Retum from department-2o tons @ Rs. 19 p€r

ton.

August, 17 Issue 200 tons

August,2l Purchase 150 tons @Rs.20.50 per ton

August,25 Issue2sotons

August,27 Purchase 300tons @ Rs.20.00per ton

Augus,30 lssue-200tons

Augusl,3l Refr.md fiom deparhnent- 15 tons @ 20.50 per ton.

8+8

\s {ffi + F\ futq dpn HM sr srPraq frEffid } t wcd d{
tqr erm qcl{r e (Pn FIFo Fit + ls€rq [{ Frftfr d lqlR-d

*G' grr fu-H d s$lnl t r rEfrqr rqrqq otPlie i 0TT F d
5 zn d 6rfr mr 28 3{,16 d 4 ri 6 qq qqm ql rflIfrd orat

?'
sT(fr,, 1

3rr€, 2

or,rff, 3

nr.r€, 4

.3{RF$ ih -500 zn @ 6. 20 cfr zn

Fr,i'q 100 rq

ft4q s0 fi
ft,tq 200 r{

' (7)

UncertifiedWork 9.000

Ovefteads 8 ,240

Material Retumed to Store 
. 

I '600

Material at Site 3,700

Machineryat site 22'000

Valueofwork Certified 3,90,000

cashReceived 3,51,000

Prepare contmct Account and show the amount ofwotk in

Fogressinbalancesheeton3l.l2'2015. 16

Frqfdkd I {f,{ft 2015 d g6 Ec sd +6r A frqBrd h{{'r

6:

21131

(t.)

5,00,000

30,000

1,70,600

1,48,750

6.330.

5.380

9.000

8,240

1.600

1.700

22.000

PT,O,

t+r Xe
qfnft

qrqff

q-${ff

c-flH qc

qqn r{{fr
,srcqFn 6r{

sqR-qc

qo-eR d elrs +i .It u"n

Tq( c{ {rqff

{T{ c{ qam

21131



(6)
DEE+ q{ frq 6c d ffiiie( fuq ,Iq B

' (3)
ormT,7 *q 200 eT @€. 19.50qfr rn
,3r!16, t6 hqiT n qr[o _ 20.{ @ 6. 19 qfr zn
oFtR, 17 ft,fu 200 .n
.xirF, 2l fic I 50 E{ @ 6. 20.50 cld er
€rrrkr,25 ft,fq 250 E{
nT{R, 27 6q 300 E{ (@ 6..20.00 cF e{
fiq, l0 R{q 200 r{
or[EI,3l tqqr.r d slcdi _ 15.{ @ 20.50 qh rct 8+8

3. (a) Explain the causes and accounting treatmeot of
idle time.

ftfH;< qrq 6 fiR"fr dqr fu-sn sTqd +1 .qr@r dFc I

(b) What eaming will a workerreceive under the followmg
incentive schemes if he execute a pieqe 6f work in
120 hours as aginst 150 no* oro** a *. * **,t
wage rare is Rs.0.25 and he gets a deanress allowance
of Rs. I per day.of g hours worked in addition to

21131

wages.

(a) Ilalseypremiumscheme(Bonus50%l

O) Rowanpreniumplan

(c) 
. Emersonefficienryplan i+g

S= i-f,rda +{{ + 3id,id \"{ 6ffi krff fiqr{ 6t[
t -uE 

C* *d q€ d rn +{- t5orj2 d ?{Qtn 120
Te q HEnf.a ry ltr lr rrd,-drqp q-qfA r, ,,. 0.25

1auT 
8 e + qs tr{ tu\ qC d .,} hq q-nqn .i .fal4r

tr.I fl rft qar kro tr
O 6rdt fiEqq +{fl (+fi sO%)
(ii) t{{ {thqq +s{r
(iii) qrnrn 

tehrdr ct{qr I 7)-9

PT-O.

20%

400/0

B

300/0

200/0

c

40%

300/0

D

D

E
1()9/o

qs {g.A W drrir w t qfE gn$ +-d qrc fr drrd €. 100.
fi drrT E. 60 i dEr {d A. B. C hqFi 4 *+, mqn +. 5 e r
fd * hq Tgo *r l6

5. (a) Difercnliate between Cost sheet ard CostAccor.mt.

dFtiT sr nql lrd qra + ff-q hi_< dr&q r

(b) procedure of Job Oder Cost Accounring. g+g

+r{ q?fl ,td teisn fl chqr r 8+8

6. The following are the particula$ relating to a contracl which
has began on I st JaD. 20 I -5.

Contract pdce

Ii4achinery

Materials

Wages

Direct Expenses

O/S Wages

(Rs.)

5,00,000

30,000

1,70,600

1,48,7 50

6,330

5,380

21731

E

t0%



(4)

Utrit-[ {srfiI
4. Shakti Enlerp ses Ltd. has three prcduction department

A. B. C atrd two service departnient D and E. The following
' figues are extrac.ted tom the records oftlie company.

Rs.

Rentandsales 10,000

Creneral Lighting 1,200

IndirectWages . 3,000

Power 3,000

DepreciationofMachinery 20,000

MiscellaneousExpenses 20,000

The following finrlerdetails asavailable.

(s.)

what is the total cost ofan article ifits raw material cost is

Rs. 100,labour Cost Rs 60 and its passes thrcugh Departnent

A, B and C for 4, 5 and 3 hours rcspectively 16

afin q,q,cEiq h. A cI€ dln wr'r tqqFl A' B' C aEI a

+aI Eqr.r D q EEI oe-ff d qFTM * Frqfrtud ff F6rA

.TC el

d.

10,000

1,200

1,000

3,000

20,000

20,000
E

fu{rcr flr t{6c

(IsRq *mr

€{rdq qq-(t

qFfi

qet{fr 6l €t(

ERs sn

FrqftEn !r{ kfl'I 3wq E

Particulan

Flonr space (Sq. Ft.)

Lights Poinr

Indirect Wagqs (Rs.)

Dircctwages (Rs.)

H. P otMachines

Value ofMachinery

Wo*ing Hours

2tt3t

1,m0

t0

150

l.0m

1o,u)(l

hfi"r

6{ ds (q't Sz)

r4l{ ts5

,ru-f,,cr r.ds (6.)

rffq$(5)
q"iH d ssE {k
qrm 6r {s
sr{atf, rit

2l l3l

The Expenses ofD and E arq allocated a-s follow :

ABCDE
D 21yo 3Oo/" 4OVo tOo

F 41n/o 2}on 3090 l0ozo

0.ffi)

DCTdd

10,m0

4000

n
450

1,000

20

6,000

40

900

6,m0

lm

2,m,m0

8l]2

5,000

30

fio

4,000

d)

,60,000

8056

20,000

120

3,m0

m,000

300

5,00,000

4,000

m

9m

6,000

1m

1r0,0m

tL452

DCBs
4,000

n

450

3,0m

20

10,0m

8t3l

Ifi)

5,000

30

6m

4,000

60

1,60,000

8056

4,000

n

900

6,000

i20

20,000

20,0m

ln

3,000

20,im

300

5,00,000

PT.O

E

r,0m

lo

150

1,000

B

6,0m

411

9m

6,0x)



(e )

n-{R A+ Frqiq 6 {nrq d s.-sflrc B s c Rfi( aa tlfiqlq

d +igm arn B ,

mqff

{q

sqfqc

srqff

{q

scft-qc

25,000

orgrff orG fre n+n t E ,

(t)
8,500

9,000

7,500'

(r.)

2,500

1,900

l,500

5.900

(t.)

1,200

1,600

900

3,700

20,000

dfsc

c

(5)

1,400

, o00

1.050

!t1q_
15,000

B

I

8.

r{fl ts 30,000

i{fl c{ q1q 40Y.

cf,rfr m {5( drrd 6l fsqifl

dliq r

30% 25/o

* *urn* *a u#l

Define thc lntcgmtcd Accounting' Discuss its principlcs
di
t6

advantages.
wT{dl

stl6d teifi d ctuflF( dfrq r gq+ Rrerdl dql cl ff
t/

r@ I

4



9

(10)
The sales arid profit ofA B C Co. Ltd. for the huvo years are as

Sales

2,40,000

2,80,000

Ca.lculare:

(t) P/VRatio

CD Fixed Cost

Cn) Variable Cost

(iv) Break-evenpoint

(!) I\4ffginofsafety

(vi) Margin ofSafety when Sales are Rs. 3,60,000

&D Sale Required for a prcfit ofRs. 3 0,000

(viii) Profit at a Sale ofRs.2,50,000.
ABCqi' h + n sq] + tdc r{d ifII dlc r{q s'l tE

r.H dl Sql nq Ffr 5' i'60'ooo t

, ,o.oon * dpl + iic 91Ee{6 itrfr

s- 2,50,000 dl t{6 c( dlq

(!i)

(,,

(rO

16follow:

Year

I

u

Profit

18,000

26.000
10. What do You mean bY "Aoalysis

BieflY explain

to
ofVuiance'

tre diflerenrtlpes of v*t* 
- __, ) ? r+qrq + hRe r+ri

.i{4,'l + frsAq"r' i fic6lmflflq r ' ' 
16

d {ffrq q[@t dtrq I

16

s{

I

II

"IEFT

(,
(iD

(nl)

(w)

(v)

MI
2,40,000

2,80,000

(lE

18,000

26,000

mBc :

diq/qT:Ir qJC|(T

{qrff Frf,

cnTdneltq eFrd
sq-Ee}{ EE
g11lr 6 ftqr 21131

( 11 )

.=*n


